Sample #1: Jade (2nd Grade student, March – 10 weeks left of school)
Benchmark Data: Oral Reading Fluency – Words Correct from DIBELS 8th Edition 
https://dibels.uoregon.edu/docs/DIBELS8thEditionGoals.pdf
Goal = Midpoint of the Green Range
(test-rest reliability = .87) (mean raw score for 2nd grade on ORF-WC = 64; SD = 40) 
Jade’s Data: 		Oral Reading Fluency 
· Baseline: ORF-WC – BL1 = 32, BL2 = 30, BL3 = 38
· 12 weeks of intervention (ORF-WC: W1 = 33, W2 = 32, W3 = 33; W4 = 35, W5 = 35, W6 = 36, W7 = 35, W8 = 37, W9 = 38, W10 = 38, W11 = 39, W12 = 40.
· Post: ORF-WC – Post1 = 45, Post2 = 39, Post 3 = 42

References:
Reliability - https://dibels.uoregon.edu/docs/techreports/DIBELS8thEdition_TechRpt1801_ResearchBrief.pdf
Means / SD - https://dibels.uoregon.edu/docs/techreports/DIBELS8-Percentiles-2020.pdf
Benchmarks - https://dibels.uoregon.edu/docs/DIBELS8thEditionGoals.pdf

Demonstrate use of each of the 5 methods discussed to interpret the data:
· Single Subject Design
· Graphing Data
· Statistical Significance Methods
· [bookmark: _GoBack]GAP / ROI analysis
· Effect Size

Then, answer the following questions:
· GAP: Is the gap significant (greater than 2).
· Effect Size: small, medium, or large
· ROI: reasonable (less than 2 times the ROI of typical peer / average benchmark growth)
· Overall:  Did you think that the intervention worked?  Which of the following choices will you make:
· Maintain the intervention (as is, stay in the current tier).
· Decrease the intervention (send back to previous tier).
· Discontinue the intervention (change intervention is same tier OR move up a tier).




Sample #1 – Jade: Single Subject Design
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Sample #1 – Jade: Graphing Data



Trend Line: ROI for Jade = 45 (highest post) – 30 (lowest pre) = 15 points gain / 12 weeks = ROI of 1.25 per week
10 more weeks left of school.  10 X 1.25 = 12.5 + 42 (last post score) = 54.5 (trend of expected score at end of school)

Goal Line: ROI for average student =  110.5 (median end) – 100.5 (median begin) = 10; 10 / 32 (average # wks begin to end) = 0.3 per week 
· Begin 2nd Grade Green ORF-WC (51-84 range); median = 84-51=33; (33/2) + 84 = 100.5
· End (94-127 range); median = 127-94 = 33; (33/2) + 94 = 110.5
Goal for Jade to pace with other students (12 weeks intervention + 10 weeks of school left) * 0.3 = (6.6 + 32 [Baseline median for Jade]) = 38.6
Decision: Because trend line is steeper than the goal line – keep intervention OR increase goal
Sample #1 – Jade: Statistical Significance Methods

Formula- Statistically Significant
·                     ________
· SEdiff. = SD √2 – r1 – r2        X 1.96 = 
· Score Difference Needed

Reliability
R1 and R2 are the same because same test used.  
Found at: https://dibels.uoregon.edu/docs/techreports/DIBELS8thEdition_TechRpt1801_ResearchBrief.pdf
Specifics for this test and grade are on page 11 (Test-Retest).  
Page # will change based on test and grade.
R1 and R2 are both 0.87

Standard Deviation
Remember, 1 SD falls between 16th percentile and 50th percentile rank on normal data.
Percentiles can be found here: 
https://dibels.uoregon.edu/docs/techreports/DIBELS8-Percentiles-2020.pdf
Specifics for this test and grade and end of year (2.3) are on page 19 - 28
Page # will change based on test and grade.
50th Percentile = Raw Score 		=	110
16th Percentile = Raw Score (median)	= 	60
110 – 60: SD = 40.  So, this set of scores has a mean of 110 and a standard deviation of 40.

Calculation
·                     __________		  ___
· SEdiff. = 40 √2 – .87 – .87      =    40 √0.26 	=	(40)(0.51) 	=  20.4 = SEdiff
· 20.4 X 1.96    =  39.98 
· 39.98 (rounded to 40) is the Score Difference Needed for Statistical Significance

Analysis

Jade’s difference:  45 (highest post) – 30 (lowest pre) = 15 points

15 points is less than 40 points; not statistically significant improvement.





Sample #1: Jade – GAP / ROI 
GAP ANALYSIS WORKSHEET (ACADEMIC) (Pre Intervention)
HOW TO CALCULATE THE GAP (REMEMBER that the Gap is ALWAYS calculated at CURRENT GRADE level)
Step 1 – Is there a GAP?
· The Gap is determined by dividing the CURRENT benchmark by CURRENT performance
· Then we determine if the Gap is significant (guideline: anything above 2.0 is significant in elementary school) 
Step 2 – How quickly is the child learning compared to peers?
· Determine the average student’s weekly rate of improvement.
· Determine the targeted student’s weekly rate of improvement.
Step 3 – What kind of progress is needed to close the gap?
· This step is determined by subtracting the CURRENT performance from the END OF YEAR benchmark 
· Divide this number by the number of weeks left in the year
· Is this a reasonable goal for this student?
                                  OR
· Determine reasonable amount to be made up per week for this student 
· Figure out how many weeks it will take for the student to accomplish this goal

STEP 1: DETERMINE GAP
Assessment used: 	DIBELS							CURRENT GAP: 	2.8	 	

90		 /     32	=	2.8                                                                                    Yes
_______________/____________ = _____________       			  	is it Significant? 		Y  		N
Current       	/   current 	=   CURRENT GAP					                        (significant = more than 2)
Benchmark               performance
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------
For pre-intervention (this page)
· Current performance (pre-intervention) = median baseline = 32
· Current benchmark (pre-intervention) = median benchmark score (green) for middle part of the year = 
· Middle (73-104 range); median = 104-73 = 34; (34/2) + 73 = 90

For post-intervention (next page)
· Current performance (post-intervention) = median posttest score = 42
· Current benchmark (post-intervention) = median benchmark score (green) for end part of the year = 
· End (94-127 range); median = 127-94 = 33; (33/2) + 94 = 110.5

ROI information (from Graph section above; for next page)

· ROI for average student =  110.5 (median end) – 100.5 (median begin) = 10; 10 / 32 (average # wks begin to end) = 0.3 per week 
· ROI for Jade = 45 (highest post) – 30 (lowest pre) = 15 points gain / 12 weeks = ROI of 1.25 per week
· 10 more weeks left of school.  10 X 1.25 = 12.5 + 42 (last post score) = 54.5 (trend of expected score at end of school)


GAP ANALYSIS WORKSHEET (ACADEMIC) (Post Intervention)
HOW TO CALCULATE THE GAP (REMEMBER that the Gap is ALWAYS calculated at CURRENT GRADE level)
Step 1 – Is there a GAP?
· The Gap is determined by dividing the CURRENT benchmark by CURRENT performance
· Then we determine if the Gap is significant (guideline: anything above 2.0 is significant in elementary school) 
Step 2 – How quickly is the child learning compared to peers?
· Determine the average student’s weekly rate of improvement.
· Determine the targeted student’s weekly rate of improvement.
Step 3 – What kind of progress is needed to close the gap?
· This step is determined by subtracting the CURRENT performance from the END OF YEAR benchmark 
· Divide this number by the number of weeks left in the year
· Is this a reasonable goal for this student?
                                  OR
· Determine reasonable amount to be made up per week for this student 
· Figure out how many weeks it will take for the student to accomplish this goal

STEP 1: DETERMINE GAP
Assessment used: 	DIBELS							CURRENT GAP: 	2.6	 	

110.5                /    42                2.6                                                                                         Yes
_______________/____________ = _____________       			  	is it Significant? 		Y  		N
Current       	/   current 	=   CURRENT GAP					                        (significant = more than 2)
Benchmark               performance


Step 2: ROI = Rate of Improvement (Per Week)

Average Student							Target Student
        
10                                               32                                            0.3                                15                                                     12                          1.25
_________________    /  _______________________= ___________	_________________    /  _______________________= ___________
Difference Score             /    Number of Weeks 				Difference Score   /          	   Number of weeks 
[bookmark: _Hlk35614639](Sp – Fa Benchmark)	 (average Sp-Fa BM = 32 wks)  =    ROI		(Post - Baseline Median)	   (actual intervention weeks)   =	ROI


Step 3: Progress Needed
                                                                                                         68.5                              10                         6.85 [Not Reasonable]
110.5		       42	                     68.5				 _______________    /    ___________________= ___________*
______________ - ____________ = _____________       			   Needed to catch up    /      Weeks left in year              Needed Weekly ROI
End of Year      	   Current 	= Needed to catch up				
Benchmark             performance
												OR
                                                                                                                                     68.5                                     1.25                                   54.8 [NOT REASONABLE]
									_________________  / _______________________= ___________
* Reasonable ROI is less than 2X the typical ROI.			          Needed to catch up      /         Target Student ROI	    Needed Number of 
                  Weeks to Meet Goal

Sample #1: Jade – Effect Size 
· Baseline: ORF-WC – BL1 = 32, BL2 = 30, BL3 = 38
· Post: ORF-WC – Post1 = 45, Post2 = 39, Post 3 = 42
Medium to large effect size found (d = 2.39; r = 0.77)
	Calcuating Cohen's D:  
	 
	 
	 
	 
	 

	Minimum of 3 Baseline Data Points and 3 Post Data Points Required
	 

	### Will fill when minimum data points are entered.
	 
	 

	 
	 
	Baseline Data 
	 
	Post Data
	 
	 

	 
	 
	(3 - 5 points)
	 
	(3-5 points)
	 

	 
	BL Time1    
	32
	 
	 
	45
	Post Time 1

	 
	BL Time2
	30
	 
	 
	39
	Post Time 2

	 
	BL Time3
	38
	 
	 
	42
	Post Time 3

	 
	BL Time4
	 
	 
	 
	 
	Post Time 4

	 
	BL Time5
	 
	 
	 
	 
	Post Time 5

	 
	 
	 
	 
	 
	 
	 
	 

	 
	BL Mean
	33.33333
	 
	 
	42
	Post Mean
	 

	 
	BL SD
	4.163332
	 
	 
	3
	Post SD
	 

	 
	 
	 
	 
	 
	 
	 
	 

	 
	M1-M2
	SD1+SD2
	Pooled SD
	Root Pooled SD
	 
	 

	 
	8.666667
	26.33333
	13.16667
	3.62859
	[image: ]
	



	
	 

	 
	 
	 
	 
	 
	
	
	 

	 
	D Square
	D2 + 4
	Squared
	 
	
	
	 

	 
	5.704641
	9.704641
	3.115227
	 
	
	
	 

	 
	 
	 
	 
	 
	
	
	 

	 
	 
	 
	 
	 
	
	
	 

	Cohen's d
	2.388439
	 
	 
	 
	
	
	 

	r 
	0.766698
	 
	 
	 
	
	
	 

	 
	 
	 
	 
	 
	
	
	 

	r = Effect Size
	 
	 
	 
	
	
	 

	.02 = small, 05 = medium, 08 = large
	 
	 
	 
	 



Jade's Oral Reading Fluency

Scores	BL1	BL2	BL3	Wk1	Wk2	Wk3	Wk4	Wk5	Wk6	Wk7	Wk8	Wk9	Wk10	Wk11	Wk12	Post1	Post2	Post3	Post 4	Post 5	Post 6	Post 7	Post 8	Post 9	Post 10	32	30	38	33	32	33	35	35	36	35	37	38	38	39	40	45	39	42	Tukey	BL1	BL2	BL3	Wk1	Wk2	Wk3	Wk4	Wk5	Wk6	Wk7	Wk8	Wk9	Wk10	Wk11	Wk12	Post1	Post2	Post3	Post 4	Post 5	Post 6	Post 7	Post 8	Post 9	Post 10	32	42	Trend	BL1	BL2	BL3	Wk1	Wk2	Wk3	Wk4	Wk5	Wk6	Wk7	Wk8	Wk9	Wk10	Wk11	Wk12	Post1	Post2	Post3	Post 4	Post 5	Post 6	Post 7	Post 8	Post 9	Post 10	30	54.5	Goal	BL1	BL2	BL3	Wk1	Wk2	Wk3	Wk4	Wk5	Wk6	Wk7	Wk8	Wk9	Wk10	Wk11	Wk12	Post1	Post2	Post3	Post 4	Post 5	Post 6	Post 7	Post 8	Post 9	Post 10	32	38.6	



Jade's Oral Reading Fluency
Scores	BL1	BL2	BL3	Wk1	Wk2	Wk3	Wk4	Wk5	Wk6	Wk7	Wk8	Wk9	Wk10	Wk11	Wk12	Post1	Post2	Post3	32	30	38	33	32	33	35	35	36	35	37	38	38	39	40	45	39	42	
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